
Exponent Properties Thin Slicing Lesson 

Intro (to InForMALLY WorK through WIth thE StuDEntS huDDLED ArounD ME) 
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4.   0 1x =   (anything with a zero exponent is ALWAYS equal to 1) 
 

 

tASK #1 
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6. What pattern do you notice when MULTIPYING terms with exponents 
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6. What pattern do you notice when DIVIDING terms with exponents 
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5. What pattern do you notice when an exponent is raised by another exponent? 
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ChALLEngE tASK 
 

Prove that 2 33 n+   is equivalent to ( )27 9
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Guided Example: 
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Example 1: 
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Things to Remember: 

 

 

 

 

 

 

 

 

 

 

 

Example 2: 

Create your own example and solve it.  
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Example 2: 

Create your own example and solve it.  



 


